Station 1

* Find the equation of a LINEAR _”cznjoz
given : \ANV =5 and f(— C
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Station 2 -
.u\.,.,xa?

Giveng = 2x2 +5x + 6

°* Find: the vertex, axis of symmetry and y
intercept of the quadratic function then

rewrite it in vertex form  _ L plgitin
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Station 3

* List the zeros and their multiplicity for the
given functions, then graph them and
compare their graphs 20 g
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Station 4

Graph the following function: na y= 5




Station 5 (use 2 differest methode)

o Factor the Polynomial into its linear factors:
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Station 6

e Use the remainder theorem to find the
remainder when f(x)is divided by x — k then
explain whether x — k is a factor or not
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Station /

* Find all of the real zeros of the given function.
|dentify each zero as rational or irrational.

f(x) = x* —x3 — 7x% + 5x+10

given (x+1) and (x-2) are factors of f(x)
Hint  use muazss.o AWision hwice
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Station 8

* Describe the end behavior of the following
function. Use complete sentences and limit
notation:

f(x) =—-2x3+3x+5
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